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Question 2: Pipe A, B and C are kept open an%
minutes. Pipe A is kept open throughout, pipe B is kept open for thefirst 10
minutes and then closed. Two minutes after pipe B is cIosedh;i%"$3J
opened and is kept open till the tank is full. Eaghpipefjlls an(equal share of
the tank. Furthermore, it is known that |(p|pe Aand ;& kept open

continuously, the tank would be filled cormiautes. How long
will it take C alone to fill the tank ?
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5. The compaund interest on R$.2,000 |n 2 years, if the rate of interest is 4% per annum for the first
yearanforthe second year, will be - _ \'D w
(A) Rs.143.40 C,\WYW wmker ook — Tukerek on s
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6. The difference between the squares of tononsecutive even integerg is always divisible by
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8. Two automobiles armeters apart and traveling towards each other. One automobile is
—_—

moving at 60 km/h and the other is moving at 40 km/h. In how many"hours wyl they meet?
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9. Sushant spent(18% of hi b tronic goods anq pf the monthly

salary on repair v,_. HNQi E. OUl O EmRat nt he invested £ \n fixed deposit. If he

—

(A) Rs. 5,18,000
B) Rs. 5,15,600
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12. The compound interest on Rs.30,000 at 7% per annum is Rs.4,347 /The period (in years) is
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16. The ratio of cost price to sale price is 20:23. What is the|profit percentage?
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(A) 20%
M
(C) 5%
(D) 6%
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17. A sum of money placed at compound interest doubles itself in how many years it would

be 8 times of itself at the same rate of interest?

(A) 10 years
( ears
(C) 20 years
(D) 7 years
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18. A sum of money at compound interest amounts to Rs.650 at the end of the first year and Rs.676 at

me end of the second )@r. The sum of money is

(A) Rs.600
(B) Rs.620
(C) Rs.580
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